New Maths GCSE: R12 & G19 - Similarity - Length, Area ax

Volume Scale Factors

Length Scale Factor X 3

Area Scale Factor XECZ

Volume Scale Factor

What should replace the star?

B 27 B 9
 c S B 3

Length Scale Factor x5

Area Scale Factor

Volume Scale Factor Xi:z

What should replace the star?

15 B 5
25 B 125
Length Scale Factor X 4

Area Scale Factor XZCZ

Volume Scale Factor

What should replace the star?
8 A 4
16 B 64

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:
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Correct Answer: ABCD

Explanation:

| =

Length Scale Factor X

Area Scale Factor

Volume Scale Factor Xi;

What should replace thestar? | i s s

1 n i ..........................................................................
4 12 [

1 1
% T e

H 16 B 64
Correct Answer: ABCD
1
Length Scale Factor X ; Explanation:

Area Scale Factor XZCZ

Volume Scale Factor

What should replace the star? | s s s
1 n l ..........................................................................
6 3 ]
1 B 3 | s
9
a Correct Answer: ABCD
- Explanation:
4cm
Bem | e
These two shapes are similar.
What is the Area Scale Factortoget from AtoB? | = covvrerrissrisssrisrnsssssssrsis s sa s s s rnannnans
4 A 3
1.5 > B
[ 4 ] s | Correct Answer: ABCD
- Explanation:

3cm

6cm

These two shapes are similar.
What is the Volume Scale Factorto get from Ato B? | sovvieriiisiissiiieiiiisisisisisis i s s sssasssanssans

o B¢ | s

A s B 27 | e
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Correct Answer: ABCD

a 5 |
- Explanation:
4cm
12em | e
These two shapes are similar.

What is the Area Scale Factor to get from A to B?

A9 B 4

A6 > T T

Correct Answer: ABCD

Length Scale Factor .
Explanation:

Area Scale Factor X 4

Volume Scale Factor XX;

What should replace the star?

| s B 16
A 64 > I T

a Correct Answer: ABCD

7cm

Explanation:

1l4cm

These two shapes are similar.
What is the Length Scale Factor to get from BtOA? | covvierriiirisssriernssis s s rn s sas s s snansnans

n -7 B 7

2 [ [
2
[ 4 | s | Correct Answer: ABCD
- Explanation:
S5cm
15em |
These two shapes are similar.

What is the Length Scale Factor to get from A to B?

A 3 B 2

A 10 > T T
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[ 4 ] s | Correct Answer: ABCD
- Explanation:
2cm
Sem | e
These two shapes are similar.
What is the Volume Scale Factorto get from Bto A? | covvierrieirisssriernsssis st s s s s sasessssssssasssansanns
—4 :
- Bl 1 |
64 4
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